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Roots of Complex Numbers ML

Determine the roots of each complex number in rectangular form. If the answer is not
ideal, leave it in polar form.

1

(-4 +431)° 2 (1+4i0)°

(-81) 4 [81(cos 21 +isin A1) ]*
3 3

(3 + 4i)? 6 (5+12i)7

-

(81)° 8 (64)°



Roots of Complex Numbers Mk

(-4 +4+/31)°

2n .. 2n
2(cos 5 +isin 9 ),

8m . . 8m
2(cos g Fisin—g ),

14 . . 14n
2(cos 9 +1isin 9)

NP

(-81)

3V2 |, 3V2,
2 T2
32 342,
2 T2
32 342,
2 2

3v2 342,
2 2

N|—=

(3 + 4i)

(2+10),(-2-1)

(V3 +1i), (/3 +1), -2i

Answers

2 (1+4i0)°

Vf(cos i +isin L)

12 12 7
6 31 . . 3m
V2(cos - tisin= ),
6 17 . . 17n
V2(cos 5 t+isin W)
4 [81(cos A + i sin 2T)]*
3 3
33 1 .
> Tt
33 1.
2 2
1 NER
2 Tt
1 A3,
2 2
6 (5+12i)7
(3 + 2i), (-3 - 2i)
8 (64)%

4, (-2 + 24/3i), (-2 - 2+/3i)



